Further, #' = 10 = 16 42 4 1 and

26 = =3 (mod 29,
= 26° = 9 (mod 29),
=+ 26" = 81 (mod 29) = ~6(mod 29),
=+ 26" = 36 (mod 29) = T (mod 29),
= 26" = 49 (mod 29) = -9 (mod 29).

Henee for y = 26

¥ o= 26" = 26" 26" 26 = —9.9. =3 (mod 29) = 27 . 9 ({mod 29) =
= — 18 (mod 20) = 11 (mod 29)

and so r = 11,

Consider p = 2633 and r = 29 . Then (r, p=1) = (20, 2632) = |, m =
Hence we have that

THIS EXAMPLE

= THIS EXAMPLEX
— 1907 | OR18 | 0423 | 0012 | 1511 | 0423

=2 -0 (muod 29)

2 ancd ' = 22649,

— 2190 | 1745 | 2437 | 2425 | 1720 | 2437

We have that r =20 = 1648+ 4 4 1. For z = 12,

12? = 144,

12 = 20736 = —328 (mod 2633)
=+ 12% = 107584 (mod 2633) = =369 (mod 2633) ,
= 12" = 136161 (mod 2633) = —755 (mod 2633) .

Henee

2" =12 =12 .12%.12°. 12 = 755 . —360 - —328 - 12 (mod 2633)

= —§03 - 1330 (mod 2633) = 24256 (mod 2633) ,

i



